Potencias de 10 (A)

Calcule los siguientes cocientes.

6,429 103 9,016 + 102
5,308 = 10! 7,94+ 10!

3,119+1073 7,325+ 107
9,355+ 1073 9,33 +1073
0,432+ 1072 5,373 =102
1,188 = 10! 8,825+ 10°
2,481 +1072 8,16+107"
8,314 +10° 7,625 +1072
4,651+ 103 6,782+ 10°
0,141 = 10" 1,348 = 10?
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Potencias de 10 (A) Respuestas

6,429 103
0,006429
5,308 = 10!
0,5308
3,119 +1073
3.119
9,355+ 1073
9.355
0,432+ 1072
43,2
1,188+ 10!
0,1188
2,481 <1072
248, 1
8,314+ 10°
8,314
4,651+ 103
0,004651
0,141 -+10!
0,0141

Calcule los siguientes cocientes.

9,016 + 102
0,09016
7,94 =+ 10!
0,794
7,325 +107
0,07325
9,33+ 1073
9.330
5,373+ 1072
537,3
8,825+ 10°
0,008825
8,16+107"
81,6
7,625+ 1072
762,5
6,782+ 10°
6,782
1,348 =102
0,01348
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